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bus_id NADHEFEES
busstop NAEOES
route BRE (&R BUSSTOP DES)
bus BRLEEETTINZAO—E (REHABUS DEZF)

(2) 51k BUSSTOP DHEENL, RDEBVTH S,
typedef struct {
int std_time; /* RIONZREHSZONREETD
GRHERERRE (7)) */
int wait_time; /* BIBIFHERE (8) */
} BUSSTOP;
(3) Wik BUS DBEIL, ROELBOTHS,
typedef struct {

int id; /¥ NRADEHES */
int cur_pos; /* NRADEFTHE */
} BUS;



(4) BHBEK route 13, NAEBEDES (UT, NABERBEEND) 0~9 ZHFLTS
BHTH 3, route iCld, M1 DEDITTF—F 2T 3,
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P s .| route[0]. route[1]. route[8]. route[9].
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BEYEFRERE () route[1].std_time réute [9].std_time
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@ route[i].std_time (i=1, 2, -, 9) &, RIDONZAE (—1) HEIDNA
1 ETOEEFRERMTH S, )NAE0IZB1F 5 route[0].std_time DfEIT 0
93,

©@ HBNAE | OBFEHFBRR route[i].wait_time (=1, 2, -, 9) I, &Iz
BETINANRBICRELNZAE a 5 TONAE | £ TOELEFRTERR
route[k].std_time (k=a+1, -, i) DEFTH S, REDRREITHMDERH
IX0&ET B, NAE0IZBITS route[0] .wait_time DIEIZ 0 &9 3, KIZH|FH
TANZANNZE 0 ZREL TWRNEE, TONZAE 1 IZBT DEEEFB R
route[i].wait_time IZ1% 0 Z#&MT 5,

(5) NADETHE bus[j].cur_pos (=0, 1, ---, 4) IZIX, EFFOREES%
BT 2, HEINABENSRONZEELETORMIZNT 2REEEIZIE, KEIOHK
FDERBNABESEZEDLUTS, NAE 0 ZREL TOWRWNZADETIE
bus[j].cur_pos iZid —1 M T 2, E/, NAEFIIZBF LENADETME
bus[j].cur_pos iZi3 9 2T 5.

6) TOr 5 LHhTHEDONBLEE preceding & succeeding DEKRITKDEBD T
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preceding  busstop AURI/NABEZERNICHEE LINANETHOXMES &
K9 5, busstop DRI NAENSNZEI EFTORMIZETH
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(7) PB9% update_wait_time |%, NANNZAEO~8 ZHETSZ L EXIINAEIIC
BELAEELZICRUHEEIN, bus_id THINENDINZDETMEBEZEFH L,
busstop ARG /NZENS preceding WRITREDHBED L BNAEBEETO,
BNABITERT HBEF BRM route[i] .wait_time (i=busstop, **+, preceding)
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1 #define STPNUM 10 /* NREDEH */
2 #define BUSNUM 5 /* NRADBE */
3 typedef struct {
4 int std_time; /* BIDNREDLS ZONRBEETOD
5 RERERRE (59) */
6 int wait_time; /* BIFEFORE () */
7 } BUSSTOP;
8 typedef struct {
9 int id; /¥ NRADHEEES */
10 int cur_pos; /* NADETHE */
11 } BUS;

12 void update_wait_time(int, int, BUSSTOP[STPNUM], BUS[BUSNUM]);
13 void update_wait_time(int bus_id, int busstop,

14 BUSSTOP route[STPNUM], BUS bus[BUSNUM]) {
15 int preceding = STPNUM - 1, succeeding = -1, i, j;



16 /* NADEFTAIE, succeeding & preceding DEET */

17 for (j = ©; j < BUSNUM; j++) {

R e Y

19 bus[j].cur_pos = busstop;

20 } else {

21 if (bus[j].cur_pos < busstop) {

22 if (succeeding < bus[j].cur_pos) {

23 succeeding = ;

24 }

25 } else {

26 if (preceding > bus[j].cur_pos) {

27 preceding = E;

28 }

29 }

30 }

31 }

32 /¥ CONRABEOBEFLREOHE */

3 if (Dt

34 route[busstop].wait_time = 0;

35 } else {

36 route[busstop].wait_time = route[busstop].std_time

37 + route[busstop - 1].wait_time;

38 }

39 /¥ RONREDS preceding WRITNABEETORESFEEBMOHE */

40 for (i = busstop + 1; i <= preceding; i++) {

41 route[i].wait_time = route[i].std_time;

42 if (i != busstop + 1) {

43 route[i].wait_time E;

44 }

45 }

46 }
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Y bus_id == bus[j].id 4 bus_id != bus[j].id

7 bus_id == j I bus_id != j
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7 -1 <1 busstop 7 bus[j].cur_pos

I bus[j]l.cur_pos + 1 %+ bus[j].cur_pos - 1 hoj
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7 preceding == -1 4 preceding == STPNUM - 1
7 preceding != -1 I succeeding == -1
% succeeding == J1 succeeding != @

diCBY 2RRER
7 += route[i - 1].std_time 4 4= route[i - 1].wait_time
%7 += route[i].std_time I = route[i - 1].std_time
Z = route[i - 1].wait_time 51 = route[i].std_time
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(2) BI% update_wait_time DFIEIZ, RID/NZ{EMN S DEBRITHI - /=B
(43) act_time ZBNT 3, ZIT, FIRDEIRDITENDBDET S,
(3 #Efk BUSSTOP DEFKIZ, KRICEETHNADETEERME (42)

delay_time ZBNY 5,

(4) HEEEBUS DERIZ, NADOETEERM (4) cur_delay ZEINYT 5,
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fT&53~14% | typedef struct {
rE int std_time; /* BIDNREBPDS ZDNREETD
RERERE (59) */
int wait_time; /* BIEFBRRE (9) */
int delay_time; /* RICBIBET DNZAOETEERRB (9) */
} BUSSTOP;
typedef struct {
int id; /* NADEKES */
int cur_pos; /* NZRDETHAE */
int cur_delay; /* NZOETEERRE (53) */
} BUS;
void update_wait_time(int, int, int, BUSSTOP[STPNUM], BUS[BUSNUM]);
void update_wait_time(int bus_id, int busstop, int act_time,
BUSSTOP route[STPNUM], BUS bus[BUSNUM]) {
TH&F15£160 int delay_preceding, delay_succeeding = ©;
B m
;—;f?;l;&%@ bus[j].cur_delay E;
Bln. 18
delay_preceding ;
T&523L240 delay_succeeding ;
B
T&538L39D route[busstop].delay_time = delay_succeeding;
[IZEm
fT&S544£450 route[i].delay_time = delay_preceding;
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act_time - route[busstop].std_time
bus[j - 1].cur_delay
route[busstop].delay_time
act_time - route[busstop].std_time
bus[j - 1].cur_delay

route[busstop].delay_time
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+= bus[j].cur_delay

= bus[j].cur_delay

act_time

route[busstop].delay_time




